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1= 1 - An equation which remains unchanged when x is replaced
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X

equation.
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2 - Product of cube roots of unity is.
3(D) =-1(C)
3-1f &, arethe roots of x2 — x —| = () , then

the product of the roots 20 and 2 is
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8 - If number of elements in a setAis 3 and in set B is 2,
then number of binary relations in Ax B is,
22 (D) 28 (C)
9 - Sum of the deviations of the variable X from its mean
is always equal to. -
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10- 20° =

3600" (D) 1200" (©
11~ cosec0 - cot=0 =
tanf (D) 0(C)

12 - Locus of a point in a plane equidistant from a
fixed point is called.
| diameter & (D) circumference 53' (C)
13 - Atangent line intersects the circle at
two points / 45 5, (B)
no point atall &', i ¢ @
I'l - The semi-circumference and the diameter of a circle
both subtend a central angie of
180° (D) 270° (©)
15 - common tangents can be drawn for
two touching circles.
3(D) 4(C)
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2 - Write short answers to any SIX questions: (2x6=12) _é /)’...,LL? /"L =y (6);3 = df 2
i - Define radical equation and give one example. & Jé _fl 34 é_v/; d/-—f:ir‘ Liw =
ii- Solve x2 +2x—=2=0 ' -éd'fx +2x-2=0 -ii
ii; - Find the discriminant of the equation x2 —5x +5=0" _é r,iv ,,.,J’J/ K x2—5x+5=0 ohbl -ii
iv - Evaluate (1- - LxJz)7 _z:r,bf,_,; S (-0-0 2 T iy
v-If a,f are the roots of the equation 2x% +3x +4 =0 uju£2x 2 3x 4B =0 whlatp ﬁ -y
then find the value of &+ and af. b S OB Ly 0B s
- Define simultaneous equations. _é -?.f/‘."l.(u;"hl/ WA -V
vi1 - Define inverse variation. __;,:_f ..y/‘."JJ}"‘,c"’. - vii
vm'l!_.\;_l: A=2whear=3, _f__r=3hr,;.A=2,Aoc:l—2~f; - viii
|
then find r when A= 72. == ,ﬁA=72,§g§(}V ry
ix - Find a mean proportional between 20, 45. & p&v i bs ¥ 45 151 20 -ix
3 - Write short answers to any SIX questions: = (2x6=12) -2.'3-:4}'@“5 ﬁ"z_’. =iy (6) 2 < Jf -3
i - Resolve (h—:";—)(ﬂ"-;{—?"} into partial fractions. JJ”J /Lf}f i (x -:)l()(xg 3) =i
it - Find (B— A) and (A— B) when e Z_gr,u» (A-B) # (B-A) -1
A={12345 « B={24568 A={12345) . B={24568)
iii - Find Ax Bwhen: A={1,2,3}, B={2,5} A={123},B={25 & g_’.’r,hw AxB -iii
iv - Find A® when U={123,...,10},A= (2357} Us={1,23,....10, A= {2357} : & & ¢ A° -
v - Find domain and range of R: R = {(b,a),(c,a).(d,a)} R = {(b,a),(c,a),(d,a)} ;"_dfr,lv f.;, sl Sess JR -v
vi - Find arithmetic mean for the data: ' ‘g;f(,l.v best QL2 Koty - Vi
200, 225, 350, 375, 270, 320, 290 200, 225, 350, 375, 270, 320, 290
vii - Define Harmonic Mean. ' , _2_,'-_1:’ -—E’/." uer’ J‘Tf e
viii - Define Variance. ; _ -é ._.y/"" J;,_-,,;‘T - viii
ix - The salaries of five teachers are as follows, find its -i:r}”w o s s uttd el @ - ik
range. 11500, 12400, 15000, 14500, 14800 11500, 12400, 15000, 14500, 14800
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I - Write short answers to any SIX questions:

i
i - Convent _\ into degrees.

[y

n-Find 0, when: /=45m andr=25m
i - Define Right angle.

v - Define Circular area of circle.

v - Define the lenght of a tangent.
vi - Define segment of a circle.
vy - Define Circum-angle.
- Define are

Vi

x - Define regular Pelygon

2
(2x6=12) _é,;}.-,yﬁ/'—"i.pmr(s)g;.u. A
-édﬂwﬁ/? t

r=25x,0=45 ) B2 0 -

& IS A i

_é-—?.’/?d/ﬁu.‘/.a_.fb -iv

S uv -y

2Ty Y QSR ]

S 0 -vii

uS ST -viii

S b FHEL -ix
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(a) Solve the cquation: 2x +5=+/7x + 6
(b) Solve the simultaneous equations:
X+y=5 : x2-2y~14=0

(a) Using Componendo-dividendo theorem,

] {.\'+3)2-(x—5): 4
th tion. B S
solve the equation {‘\_ . 3)_ N (x B 5)_ 5
Ix-1
(b) Resolve — ] into Partial fraction.
x ==,

- (a) fU={1.234...,10}, A={1,3,57,9},
and B={14,7,10}, thenverify B—- A =B A’

(b) Calculate Variance for the data:
10,8,9,7,5 12,8,6, 8,2

1 + cosd sin0
- (a) Prove that: +

sin0

= 2cosecH
| + cos@

(b) Draw two perpendicular tangents to a circle

of radius 3cm.

- Prove that the Perpendicular from the centre of a
circle on a chord bisect it.

OR

Prove that any two angles in the same segment of

a circle are equal.
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X+y=5 : x*-2y-14=0

L 2SI by e () -6

(x+3f-(x-5) 4

(x+3)2+(x—5)2 s ..-,.I:I/
s 3x -1

EWL Sz S AT
U={1,234,..,10}, A= {13579}

B-A=BNA":& = 7% B={14,7,10) L
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10,8,8,7,5,12,8,6,8, 2

sind

1+ cosO
+

sind 1+ cosO

=2co0sec ;2L o () -8
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I- 1 - The number of elements in the power set of {1,2,3} is: S e i S ukn £ Ll L=t A

9(D) 8(C) 6 (B) - 4(A)

2- Inaproportiona:b:c:d, "a" and "d" "d" "a" e /: bric:d_t-2
are called. powl
extreme A4 (B) mean %5 (A)
fourth proportional -3 (D) thirdproportional  _-t31,# (C)

- Locus of a point in a plane equidistant from a Ust g o6 4l S s €560 L 5 -3

fixed point1s called - L"!!q(

| circumference s (D) diameter & (C) radius );')'U; (B) circle 71 (A)
_.;,'\. :.1__ — is: '{(-a.. | __2x+l____
(.\'—I)(,rvf) / T (x—])(x+ )
proper fraction /_2i; (B) __af improper fraction /_21, # (A)
equaticn = (D) . identity =i (C)

f - Aline intersecting a circle is called. rf -G bl b Ix t')’d’;fd_-}b -5
boundary ., (D) chord 73 (C) secant cfb‘},,-: (B) tangent i (A)

6 - The disatnce between the centres of two congruent el {}"i/ L Usib Gobr Ll L./t/",; i G,[. » -6

touching circles externally is: - -ﬁ:..t:v: s Z
the radius of each circle i, ¥« /1> (B) the diameter of each cirflce & ¥ 241> (A)
twice the diameter of each circle /5 ¥ B L ¢ 71, (D) of zero length i/ 3¢ (C)

7 - The discriminant of the equation ax3 +bx+c=010s - b ,,JJ/ ¥ ax2 +bx+c=0 =his =7

Jo? —ac (@ Jb? + 4ac (© b2 + ac (B) b2 — dac (A)
S - The factors of x- —15x + 56 are: ur }}..G[_ x? ~15x+56 -8
(x+7fx+8) @ (x-TMx-8)© (+7Mx-8 @ (x-Tfx+8) @
9 - The semi circumference and the diameter of a circle oy $Ir6hs sl 719
both subtend a central angle of. . - b
360° (D) 270° (©) 180° (B) 90° (A
10 - The terminal side of angle 235° lies in quadrant. e b U5 s 3, S ¥235° - 10
V(D) 11 (C) [1(B) L(A)
11 - Two square roots of unity are. B, S 7. Py R Ty Jgr - 11
».o* (D) 1,-0 (C) Lo (B) L=1 ()

(5w 6 ‘U/ D) )’j
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12 - Inthe proportion 7 : 4 :: P : 8 the value of P is:
14 (D) 8(C)
133 - If the number of elements in SetAis 3 and in
Set B is 4 then the number of elements in A x B is.
12(D) 7(C)
14- Sec0Cot0=
Sin0 1
Cosb 2 Sin® (.C)
15 - The mean is affected by change in.
scale > 2y (D) ratio =’ (C)

i A fPLT4PB 12

7(B) 4(A)
Ind By 3 518 § gkt LA o S - 13
-3 O s Ju(n JAXB

4(B) 3(A)

Sech Cotd = - 14
1

B Sin@ (A
Cos (8) (A

e b S LSS bt QLo - 16
value ¢ (B) place G (A)
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2 - Write short answers to any SIX qucstions: (2x6=12) _’cf;'-.'q,ja[,lﬁ /‘?Z. =iy (6) g & Jf- 2
1- Solve the equation. x2,24_2 =0 & Y 5% 0yl il i
i - Define Reciprocal Equation. _g _é;}'J&,,L, J,Gf -3
i - Evaluate: (|- g-°)’ .' ‘ér’b":"é J(l—m—mz)j - ii
iv - If w.[} are the roots of the equation 4x2 —5x 4+6=0 U L 45?2 - 5546=0cilatbB S ~iv
then find the value of U:BE : ..f.{.’-:pi*‘c..g Juzﬁz,?
v - Using Synthetic division, show that (\ " 2) is the factor of L{z/;,;,;- (x = 2Jjg_f O Jﬁ:ﬁ‘&'} -v
Xt -Tx+2 ¥x7+x2-Tx+2 &
vi - Define Symmetric function. __’5_’ ._é;/:fbfj[;j J/*/:’ -vi
vii - Find the cost of 8Kg of mangoes, if the cost of 5Kg of 8 s &1 250 = JUJ’T('/;:K 571 -vii
mangoes. is Rs.250. e Ju,»‘(r-.fﬁ
v Uy s N v = 7 and « - 3 then find 'v'in terms of 'y’ S X=3 a¥=T ¥%XX f Ly
-FE e exed dy
ix - Define Proportion. “,’-;‘_-( :r/;"U(‘__/t;' ~IX

3 = Write short answers to any SIX questions: (2x6=12) _éfj.:,y;: L =y (6) & df -3

i - Define Improper fraction. _g{_{;}L{/._,ﬂ,/g -i
- 1fU=(1,234,..10}, A={1,3,5,7,9} and B={1,4,7,10) U ={1,234...,10,A={13579) J -ii
then find (A~ B’ -2 (A= BY 4B = {1,4,7,10}
ii1 - Define Function. _é.g/". Jlﬁ‘; aie
iv - Find'a’ and ‘b’ if (20 +5,3)=(7,b-4) (2a+53)=(7,b-4) ./ 2 b S0 e -iv
v - If set M has 5 elements then find the number of 925145 $ s §E U2 MT e 81 (5) éE M -y

binary relations in M. ' _/"E‘._'
vi - Define H-armonic mean. S b ETA i
vii - Define Range. _é Hy/J'JM - vii
viii - Find anthmatic mean by direct method: _gfry Lol Jp Eoly 5 oanr = 31 (.5.’.}/‘? hetsty - viii
12,14, 17, 20,24, 29, 35, 45 12,14, 17, 20, 24, 29, 35, 45
1x - For the following data, find the Harmonic mean. _;é'r,ly Lot bﬁj_,:,.: 4 I she 5o -ix

12 5 8 4

X 12 5 8 4 G . X
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